
 
 𝑴,𝑵 − 𝒂𝒓𝒆 𝒎𝒊𝒅𝒑𝒐𝒊𝒏𝒕𝒔. Prove : 

𝒄𝒐𝒕 𝜽 =
𝒃 ∙ 𝒄𝒐𝒕 𝑩 + 𝒄 ∙ 𝒄𝒐𝒕𝑨 − 𝒃 ∙ 𝒄𝒔𝒄 𝑨

𝒃 + 𝒄
 

İ𝒇 𝑨 =
𝝅

𝟐
 𝒕𝒉𝒆𝒏 𝒄𝒐𝒕 𝜽 =

𝒄 − 𝒃

𝒄 + 𝒃
=
𝒄𝒐𝒕 𝑩 − 𝟏

𝒄𝒐𝒕𝑩 + 𝟏
= 𝒄𝒐𝒕 (𝑩 +

𝝅

𝟒
) 

 

 

Proposed by Thanasis Gakopoulos-Greece, Istvan Biro-Romania 

Solution by Mirsadix Muzefferov-Azerbaijan 
 

 

𝑩𝒚 𝒄𝒐𝒏𝒔𝒕𝒓𝒖𝒄𝒕𝒊𝒐𝒏 𝑷𝑳 ∥ 𝑵𝑴 ∥ 𝑸𝑻. 𝑨𝒄𝒄𝒐𝒓𝒅𝒊𝒏𝒈 𝒕𝒐 𝒕𝒉𝒆 𝒈𝒊𝒗𝒆𝒏 𝒄𝒐𝒏𝒅𝒊𝒕𝒊𝒐𝒏𝒔. 

𝑩𝑷 = 𝑸𝑪 ;  𝑷𝑵 = 𝑵𝑸 ;  𝑩𝑴 = 𝑴𝑪 

𝑻𝒉𝒆𝒏 , 𝒂𝒄𝒄𝒐𝒓𝒅𝒊𝒏𝒈 𝒕𝒐 𝑻𝒉𝒂𝒍𝒆𝒔’ 𝒕𝒉𝒆𝒐𝒓𝒆𝒎 𝑳𝑴 = 𝑴𝑻. 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆 𝑩𝑳 = 𝑻𝑪 

𝑰𝒏 ∆𝑩𝑷𝑳 𝒓𝒖𝒍𝒆 𝒔𝒊𝒏𝒆 
𝒔𝒊𝒏(𝜽 − 𝑩)

𝑩𝑳
=
𝒔𝒊𝒏𝜽

𝑩𝑷

𝑰𝒏 ∆𝑪𝑸𝑻 𝒓𝒖𝒍𝒆 𝒔𝒊𝒏𝒆 
𝒔𝒊𝒏(𝜽 + 𝑪)

𝑻𝑪
=
𝒔𝒊𝒏𝜽

𝑸𝑪 }
 

 

⟹ 𝒔𝒊𝒏(𝜽 − 𝑩) = 𝒔𝒊𝒏(𝜽 + 𝑪) (∗) 

 



 

(∗) ⟹ 𝒔𝒊𝒏(𝜽 − 𝑩) ∙ 𝒔𝒊𝒏𝑨 =𝒔𝒊𝒏(𝜽 + 𝑪)  ∙ 𝒔𝒊𝒏𝑨 ⟹
𝟏

𝟐
(𝒄𝒐𝒔(𝜽 − (𝑨 + 𝑩)) − 𝒄𝒐𝒔(𝜽 + 𝑨 − 𝑩)) = 

=
𝟏

𝟐
(𝒄𝒐𝒔(𝜽 + 𝑪 − 𝑨) − 𝒄𝒐𝒔(𝜽 + (𝑨 + 𝑪))) 

𝒄𝒐𝒔(𝜽 − (𝑨 + 𝑩)) − 𝒄𝒐𝒔(𝜽 + 𝑨 − 𝑩) = 𝒄𝒐𝒔(𝜽 + 𝑪 − 𝑨) − 𝒄𝒐𝒔(𝜽 + (𝝅 − 𝑩)) 

𝒄𝒐𝒔(𝑨 + 𝑩 − 𝜽) − 𝒄𝒐𝒔(𝜽 + (𝑨 − 𝑩)) =𝒄𝒐𝒔(𝜽 + (𝑪 − 𝑨)) − 𝒄𝒐𝒔(𝝅 + (𝜽 − 𝑩)) 

𝒄𝒐𝒔(𝑨 + 𝑩 − 𝜽) − 𝒄𝒐𝒔(𝜽 + (𝑨 − 𝑩)) = 𝒄𝒐𝒔(𝜽 + (𝑪 − 𝑨)) − 𝒄𝒐𝒔(𝜽 − 𝑩) 

𝑳𝒆𝒕′𝒔 𝒂𝒅𝒅 (− 𝒄𝒐𝒔(𝑩 + 𝜽)) 𝒕𝒐 𝒃𝒐𝒕𝒉 𝒔𝒊𝒅𝒆𝒔 

𝒄𝒐𝒔(𝑨 + 𝑩 − 𝜽) − 𝒄𝒐𝒔(𝜽 + (𝑨 − 𝑩)) − 𝒄𝒐𝒔(𝑩 + 𝜽) − 𝒄𝒐𝒔(𝜽 + (𝑪 − 𝑨)) = 

= 𝒄𝒐𝒔(𝜽 − 𝑩) − 𝒄𝒐𝒔(𝑩 + 𝜽) ; 

𝑯𝒆𝒓𝒆 ∶ − 𝒄𝒐𝒔(𝑩 + 𝜽) = −𝐜𝐨𝐬(𝝅 − (𝑨 + 𝑪) + 𝜽) 𝒄𝒐𝒔(𝑨 + 𝑪 − 𝜽) 

(𝒄𝒐𝒔(𝑨 + 𝑩 − 𝜽) − 𝒄𝒐𝒔(𝜽 + (𝑨 − 𝑩))) + (𝒄𝒐𝒔(𝑨 + 𝑪 − 𝜽) − 𝒄𝒐𝒔(𝜽 + (𝑪 − 𝑨))) = 

= 𝒄𝒐𝒔(𝑩 − 𝜽) − 𝒄𝒐𝒔(𝑩 + 𝜽) 

−𝟐𝒔𝒊𝒏
(𝑨 + 𝑩 − 𝜽) − (𝜽 + (𝑨 − 𝑩))

𝟐
∙ 𝒔𝒊𝒏

(𝑨 + 𝑩 − 𝜽) + (𝜽 + 𝑨 − 𝑩)

𝟐
− 

−𝟐 𝒔𝒊𝒏
(𝑨 + 𝑪 − 𝜽) − (𝜽 + (𝑪 − 𝑨))

𝟐
∙ 𝒔𝒊𝒏

(𝑨 + 𝑪 − 𝜽) + (𝜽 + 𝑪 − 𝑨)

𝟐
= 

= −𝟐𝒔𝒊𝒏
(𝑩 − 𝜽) − (𝑩 + 𝜽)

𝟐
∙ 𝐬𝐢𝐧

(𝑩 − 𝜽) + (𝑩 + 𝜽)

𝟐
 

𝒔𝒊𝒏(𝑩 − 𝜽) ∙ 𝒔𝒊𝒏𝑨 +𝒔𝒊𝒏(𝑨 − 𝜽) ∙ 𝒔𝒊𝒏 𝑪 = −𝒔𝒊𝒏𝜽 ∙ 𝒔𝒊𝒏𝑩 

𝑴𝒖𝒍𝒕𝒊𝒑𝒍𝒚 𝒃𝒐𝒕𝒉 𝒔𝒊𝒅𝒆𝒔 𝒃𝒚 (𝟐𝑹𝒔𝒊𝒏𝑩) 

𝟐𝑹𝒔𝒊𝒏𝑩 ∙ 𝒔𝒊𝒏(𝜽 − 𝑩) ∙ 𝒔𝒊𝒏𝑨 +𝟐𝑹𝒔𝒊𝒏𝑩 ∙ 𝒔𝒊𝒏(𝜽 − 𝑨) 𝒔𝒊𝒏𝑪 = 𝟐𝑹𝒔𝒊𝒏𝑩 𝒔𝒊𝒏𝜽 𝒔𝒊𝒏𝑩 ⟹ 

⟹ 𝒃𝒔𝒊𝒏(𝜽 − 𝑩) ∙ 𝒔𝒊𝒏𝑨 +𝒄 𝒔𝒊𝒏𝑩 ∙ 𝒔𝒊𝒏(𝜽 − 𝑨) = 𝒃 𝒔𝒊𝒏𝑩 𝒔𝒊𝒏𝜽 

𝒃 𝒔𝒊𝒏𝑨(𝒔𝒊𝒏𝜽 𝒄𝒐𝒔𝑩 − 𝒔𝒊𝒏𝑩𝒄𝒐𝒔 𝜽) + 𝒄 𝒔𝒊𝒏𝑩(𝒔𝒊𝒏𝜽 𝒄𝒐𝒔𝑨 − 𝒔𝒊𝒏𝑨 𝒄𝒐𝒔𝜽) = 𝒃 𝒔𝒊𝒏𝑩 𝒔𝒊𝒏𝜽 

−𝒃𝒔𝒊𝒏𝑨𝒔𝒊𝒏𝑩𝒄𝒐𝒔 𝜽 − 𝒄𝒔𝒊𝒏𝑨 𝒔𝒊𝒏𝑩 𝒄𝒐𝒔𝜽 + 𝒃 𝒔𝒊𝒏𝑨𝒄𝒐𝒔𝑩𝒔𝒊𝒏𝜽

+ 𝒄 𝒔𝒊𝒏𝑩 𝒄𝒐𝒔𝑨 𝒔𝒊𝒏𝒔𝜽 = 𝒃𝒔𝒊𝒏𝑩𝒔𝒊𝒏𝜽 
(𝒃 + 𝒄) 𝒔𝒊𝒏𝑨 𝒔𝒊𝒏𝑩 𝒄𝒐𝒔𝜽 = 𝒃 𝒄𝒐𝒔𝑩𝒔𝒊𝒏𝑨 𝒔𝒊𝒏𝜽 + 𝒄 𝒄𝒐𝒔𝑨 𝒔𝒊𝒏𝑩𝒔𝒊𝒏𝜽 − 𝒃 𝒔𝒊𝒏𝑩 𝒔𝒊𝒏𝜽 

𝑳𝒆𝒕′𝒔 𝒅𝒊𝒗𝒊𝒅𝒆 𝒃𝒐𝒕𝒉 𝒔𝒊𝒅𝒆𝒔 𝒃𝒚 ∶ (𝒔𝒊𝒏𝜽 𝒔𝒊𝒏𝑨𝒔𝒊𝒏𝑩) 

(𝒃 + 𝑪) 𝒄𝒐𝒕𝜽 = 𝒃 𝒄𝒐𝒕𝑩 + 𝒄 𝒄𝒐𝒕𝑨 −
𝒃

𝒔𝒊𝒏𝑨
 

𝒄𝒐𝒕 𝜽 =
𝒃 𝒄𝒐𝒕𝑩 + 𝒄𝒄𝒐𝒕 𝑨 − 𝒃 𝒄𝒔𝒄𝑨

𝒃 + 𝒄
   (𝒑𝒓𝒐𝒗𝒆𝒅) 

𝒊𝒏 𝒔𝒑𝒆𝒄𝒊𝒂𝒍 𝒄𝒂𝒔𝒆 𝒊𝒇 𝑨 =
𝝅

𝟐
 ⟹ 𝒄𝒐𝒕𝑩 =

𝒄

𝒃
⟹ 𝒄𝒐𝒕 𝜽 =

𝒃 𝒄𝒐𝒕𝑩 + 𝒄 𝒄𝒐𝒕𝑨 − 𝒃𝒄𝒔𝒄𝑨

𝒃 + 𝒄
= 

=
𝒃 ∙
𝒄
𝒃 + 𝒄 ∙ 𝐜𝐨𝐭

𝝅
𝟐 − 𝒃 𝐜𝐬𝐜

𝝅
𝟐

𝒃 + 𝒄
=
𝒄 − 𝒃

𝒄 + 𝒃
=

𝒄
𝒃 − 𝟏

𝒄
𝒃 + 𝟏

=
𝒄𝒐𝒕𝑩 − 𝟏

𝒄𝒐𝒕𝑩 + 𝟏
= 𝒄𝒐𝒕 (𝑩+

𝝅

𝟒
) 


